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21. If oats are called carrots, carrots are gf o1& &1 MR HE A 8, TR DI
called blimps, blimps are called flowers, feerey war e B, o &1 S FE
flowers are called stones, stones are ST 8, Tl 1 GeR HET el % JeR
called balloons and balloons are called P Y@R FET Wl & 3R TER @
toys, then what do buds bloom into? Raeit=1 ®er rar 8 O sforal Raaax

T g &7
A. Flowers B. Balloons A. T B. &
C. Stones D. Toys C. UeR D. fRaar

22. Select the option in which the letter- | 22, @& fadeq g SR 3ER—u9e IS4 JaR
cluster is related in the same way as is O ¥afeT & O 3 R seR-—g
the letter-cluster in the given set. wafde & |
INQS INQS
A. FIMP B. PTWY A. FIMP B. PTWY
C. NQTV D. DHKN C. NQTV D. DHKN

23. Which of the following strings of letters | 23. F=ifeifas # & &9 ser g@en o
can be prefixed to the strings (IGHT), ‘ H@ell (IGHT), (AME), (EW) 3iR (AT)
(AME), (EW) and (AT) to make H UEel oM W AW 9I&E g9, Al
common words that can be found in e arofl S Ier | Y S Had &2
an English dictionary?

A. (BR) B. (SH) A. (BR) B. (SH)
C. (PL) D. (FL) C. (PL) D. (FL)

24. Tnalanguage, 'mohu rupt nyrk' means | 24, u@ a7 # ‘mohu rupt nyrk’ @7 3ef

‘intelligent and hardworking', 'mohu triv gfear sk ufRs#Y, ‘'mohu triv jech’
jech' means 'tests and examinations', a1 3ol ‘qéieror aik udemt, jech lyge
'jech lyge' means 'examination a1 aef gen wer Siv ‘stoj rupt’
questions' and 'stoj rupt' means qfer :
'intelligent answers'. What will be the :ﬁ il mﬁgg?m S
expression that means 'questions and ;
answers'?
A. mohu lyge stoj A. mohulyge stoj
B. nyrk rupt mohu B. nyrk rupt mohu
C. nyrk mohu triv C. nyrk mohu triv
D. stoj nyrk rupt D. stoj nyrk rupt

25. Select the correct mirror image of the | 25. @3 7y W &1 W& Tdv nfafde |

giv en cumbmalmn
METALS MIETALE
A, ﬂr# W B. METALR A GIATTENM B, METANR
C BJATEM - @LATEIM C. @JMrEM P- @LATEN
10810804805 5 PA/AH
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26. Suman leaves her home, turns left, 26. A 0 =R | e, qri 78, I
walks 300m towards the north and B 3R 300m T 3R HETET T S
reaches the Mahatma Gandhi junction. T TE ¥, a8 < iR 74 3l
From there, she turns right and walks ugd fiva q’-{ \
500m to reach a hospital to visit an TH R | P B fere s00m
ailing friend. After that, she turns right AR AT | D 918, T8 &Y
to go to a supermarket. After shopping HEPHY TP H 11d | guvrhe
from the supermarket, she walks LCRIAR Fare, g8 WY gofa 31a
straight to her house. In which direction BY TS | HEEHT TE WaeH ¥ arerel
does the road from the Mahatma - 5
Gandhi junction to the hospital run? Pl wew e fam 7 e 8
A. Eastto West  B.North to South A @I uReH B. IX Y @
C. South to North D.West 1o East C. sRord 3R D. 9Raw 4

27. Three of the following four options are 27. ¥ R faweal # 9 dF 5l vor |
alike in a certain way and one is different. ‘ M & 3R U AEId B | U B
Pick the odd one out. fafea & |
O L ® O ®

Rz T O - [H® [®
( 0, O ‘\ >

28. Select the option in which the terms 28, aE ﬁaﬁqgﬁﬁmﬁwa‘siﬁa a8 Hag
share the same relationship as that it 33 ¢ g g B 4™
shared by the given pair of terms. 4
Square : 4
A. Decagon :5 B. Pentagon:9 A, TIMA : 5 B.uavs 9
C. Hexagon :7  D. Octagon : 8 C. ye4yd :7 D, 37 : 8

29. Select the option in which the words 29. 98 feey % forad e} @ dra g8
share the same relationship as that HeEr & ol Q¥ R @ dF B
shared by the given pair of words. FHIT: fheg
Paper : Book
A. Phone:Talk B. Wheel: Car A. B : gl B. ufgdr : &R
C. Metal:Coin  D. Loan: Interest C. 91q : fzE21 D. 301 : &

30. Select the number that can replace the 30. 98 wem g+ o et A § g
question mark (?) in the following series. fore (7) &1 ¥ o "t &

512,768, 1152, 1728, ? 512,768, 1152, 1728, 7

A. 2888 B. 2172 A. 2888 B. 2172

C. 2482 D. 2592 | C. 2482 D. 2592
PA/AH 6 10810804806
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31. Select the number that can replace the . g8 wean g7 o Frafeitea s § aem
question mark (?) in the following fore (7) &1 =IF & 9! B
series. 511,255,7, 63,3515, 7
S11,255,7,63,31,15,7
A. 124 B. 127 A. 124 B. 127
C. 175 D. 125 | | S &7 B 18
32. Three of the following four options are . 3 9 fAde % | 99 0 veR |
alike in a certain way and one is different. WHA & 3R Ud IR 8| IR B
Pick the odd one out. faifea |
[ ®
A EH® B FE A E® B EG
O, <D, o S8 s Y
©EHO® P EE e P EEe
33. Which of the options would be the sixth . T Y H OS W R B 1 fAded
figure in the following series? QT
8 c|le nu|[L wm|[a r|[lv w B clile H|lL m|la rllv w
\LEJ JFl\\Uu:‘TP_ﬂ_"VuI ‘ E._:_l JFL P_kf_ﬂ-JTPI YHIJ
1 2 3 4 5 1 2 3 4 5
& 1808 B. |®2* A 5 B [*y
o c c D ‘ oD C C D
A S D C| C A B 0 cf
C. D ¢ D. Al B ‘ 1 D C D. A B
34. Select the fraction that can replace the . 98 B g o Feaferfaa ool 3 aes
question mark (?) in the following ferg (?) @1 I o " § |
series.
3216 8 4, @216 8 4,
9 "27°8172437729"" 9 "27°81'2437729" "
1539 B 2w A 59 B 7ig7
.5 : =z 2z
C. 1539 D. 2187 C. 1539 D. 2187
10810804807 7 PA/AH
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35. Which of the following words can be  35. 399 9§ @19 Wl ¥l& @ael EEELLPSS
formed using all of the letters BRI BT I HD AT A Febell © 7
EEELLPSSS, but none other? |
A. STEEPLESS A. STEEPLESS
B. SPELLSETS B.. SPELLSETS
C. SLEEPLESS ‘ C. SLEEPLESS
D. EPISTLES D. EPISTLES

36. Three of the following four letter- ‘ 36. 391 AR 3&R — WA 7 ¥ o fH
clusters are alike in a certain way and TR H T & 3R va R 2
one is different. Pick the odd one out. T i fafed # |
A. CHSX B. IKPR A. CHSX B. IKPR
C. DIQW D. AFWZ | C. DIQW D. AFWZ

37. Select the letter-cluster that can replace 37. a8 HER—1qE g+ w1 Awferad e
the question mark (?) in the following # g — fRe(?) &1 @ o "l £ |
SEries. LIB, NIY, PHV, RGS, TFP ?

LIB. NIY, PHV, RGS, TFP, ? |
A. VEM B. VEN A. VEM B. VEN
C. WEM D. VFM ‘ C. WEM D. VFM

38. If DAMSEL is coded as AEDLMS, 38. afe DAMSEL &I AEDLMS % &4 #

how will VALOUR be coded as? Heds fbar a1 8, o VALOUR @I
| forer waR weas far smem?

A. AUVROL B. AOULRV A. AUVROL B. AOULRV

C. AVUROL D. AROUVL C. AVUROL D. AROUVL

39. Select the option in which the numbers 39. @8 Rae g1 e vt o waR
are related in the same way as are the g H Hefed € o el 7y gv wiE
numbers in the given sets. T ey et € |
(6, 15,30) and (12, 14, 84) (6. 15, 30) 317 (12, 14, 84)

A. (12,16.32) B. (16,12,36) A. (12,16,32) B. (16,12, 36)
C. (12,16.48) D. (16,12,72) C. (12,16,48) D. (16,12,72)

40. Select the option in which the numbers ‘ 40. @8 faweg g forgd W@ 99 0eR
are related in the same way as are the o # Heafta & o fRE v g A
numbers in the given pair. T Heafed 2|
(7, 343) (7, 343)

A. (5, 125) B. (4,16) ‘ A. (5,125) B. (4,16)
C. (3,81) D. (25,125) C. (3.81) D. (25.125)
PA/AH 8 10810804808
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41. Which of the following states are 4]1. &9 9§ ®F ¥ UG UreTHIe &% 9 IIY
connected by the Palghat Gap? Agegus?
A. Maharashtra and Goa A. HERTS 3R T7E
B. Keralaand Tamil Nadu B. #¥d 3R Ty
C. Tamil Nadu and Andhra Pradesh C. afferrg ik 3y gaw
D. Karnataka and Kerala D. FHied SR &

42. Which of the following Harappan cities | 42. ESW@d & 99 9 &I 91 TR, T
was divided into three parts? | # faEriore or ?
A. Lothal B. Mohenjodaro (A) &g (B) #Higdll arel
C. Kalibanga D. Dholavira (C) FrETm (D) ereTdRT

43. In which year was the Supreme Court 43, v T o A 5w 9d § sae
set up by the East India Company in H Wdled < 1 ®YEr @1 off ?
Calcutta?
A. 1757 B. 1765 A. 17574 B. 17659
C. 1773 D. 1792 C. 17734 D. 179274

44. 1In 2019, who took the oath as the Chief | 44. 2019 ¥, f&a= sRamn & g &
Minister of Haryana for the second w9 H g R Uy o ?
time?
A. Bhupinder Singh Hooda A. Hftiex ¥ gs1 A
B. AnilVij B. aifel fet 3
C. Manohar Lal Khattar C. HeY dd @ex A
D. Dushyant Chautala D. g=id dierar +

45. Who was awarded the Nobel Prize in ~ 45. 2019 ¥ @ifge &1 #9196 qrebR 74
Literature in 20197 4 oy wer favar war ?
A. Abiy Ahmed A. €Y EHE B
B. Peter Handke B. Yiex €& I
C. Olga Tokarczuk C. 3T SFRGH[EH B
D. Bob Dylan D. 94 f$a= &1

46. The Indian cricket team played its first | 46. 22 ¥ 26 ga% 2019 TH AU fhde
ever day-night test match against &M A 9T HEY U faA-—a e
from 22" to 26® November 2019, L] & fawg Wi
A. SriLanka B. England A. #Hiedl B. gwis
C. SouthAfrica D. Bangladesh C. &ffior agprer D, e

10810804809 PA/AH
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47. Who won the US Open Men's Singles 47. 2019 § .04, 39+ g%y Udhdl Raare
title in 2019? fee Sirar?
A. Rafael Nadal A. XA TSI |
B. Daniil Medvedev B. SfFe #gea A
C. Andy Murray C. TS m A
D. Nick Kyrgios D. % s =
48. Who was the Chairman of Indian Space 48. FHU (ISRO) EWT @gu 2 v e
Research Organization (ISRO) when febu S & 9T AR ARE T
ISRO launched Chandrayaan 2 H1eA (ISRO) & 3Edeq &9 o 7
mission?’!
A. Dr. K. Sivan A. B & REa
B. A.S.Kiran Kumar B. T . fawvo R
C. Shailesh Nayak C. ¥oi9 uF
D. K.Radhakrishnan | D. & IEHU
49, How many fundamental duties were = 49, 42 d Hfau™ HMu— F Aegs 9 ARARI
included in the Indian Constitution wfeer= & s Afers wder wfefere
through the 42 Constitutional fpd q o ?
Amendment’?
A. 11 B. 9 Al B. 9
C. 10 D. 12 C. 10 P: 12
50. Under which writ does the court order 50. fhe wiReT & siova TEd, SR
a lower court or another authority to =g a1 et 3w % e
transfer a matter pending before it, to | cifeT BT Ael $ e ARSI Al
the higher authority or court? | AT H WIEIART A B A
& 87
A. Mandamus B, Quo Warranto
C. Certiorari D. Prohibition é Sl g w g
51. :rhu famous hismria;al munumcr}t 51, IPpex SRT 9=aTaT T SR e
Eu!and .Dam'aza‘. hun]t‘ b},-" Akl?ar. is TIRE 'gAT W@ ST NSW B
situated in the district of forer % Rera &)
Uttar Pradesh.
A. Meerul | A. ¥XG
B. Kanpur B. TR
C. Agra C. 3T
D. Allahabad (Prayagraj) D. SeTEEE (WRIFRIW)
PA/AH 10 10810804810
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52.

Which Sikh Guru's birth anniversary is
celebrated as the festival '‘Gurupurab'?

52.

A. Guru Gobind Singh A. 7% TS e
B. Guru Tegh Bahadur B. % T IEIgR
C. GuruArjan Dev C. % 3o ad
D. Guru Nanak Dev D. % & od
53. Which of the following folk dance ‘ 53. &9 9 B9 1 clidgcd sRamwn I 9
forms is NOT associated with the state Haferd Tl & °
of Haryana?
A. Dhamal B. Khoria A. gHTd B. @R
C. Jhumar D. Jawara C. IR D. SErT
54. Which of the following banks is NOT ‘ 54, RA H $H @ I W 96 AEGE
a public sector bank in India? & H dH e ?
A. Allahabad Bank A. TATEETE 9
B. Punjab National Bank B. UG weel a9
C. UCO Bank C. @I &%
D. Federal Bank Ltd. ‘ D. wever d% fo
55. Which scheme was launched by the 55. 2015 ® He=HA! G R — @Re, ;N
Prime Minister in 2015 for providing F oY /Ged FeHl B 10 E!'I?.Ti a® &l
loans up to 10 lakh to non-corporate, T WG B & foIg 79 9 B W
non-farm small/micro enterprises? ‘ AT % ol g ot ?
A. Pradhan Mantri MUDRA Yojana A. WETTEA T ATl
B. Make in India B. #% ¥ sfem
C. Uijwal Bharat Yojana C. Fowa ARG AT
D. Atal Pension Yojana D. e YO ATl
56. Which of the following Commissions ‘ 56. g 9 fobwr ’)f feemt & e
is mandated to recommend the S R e e e e
minimum support price for farmers? T ? ?
A. Commission for Welfare of A. &8 ST T
Farmers :
B. Commission for Agricultural Costs B. B AT vd B SR
and Prices ‘ :
C. Commission for Agriculture C. P 9i& m
Growth )
D. Commission for Agricultural D. PfY Rerd 1d & Jmarm
Development and Growth
10810804811 11 PA/AH
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58.

Prime Minister Narendra Modi launched 5T

the Fit India Movement in the month of
2019.

A. July B.

C. October D. August

September

Who among the following developed ‘ 58.

the Theory of Relativity?

Albert Einstein
Alfred Nobel
Charles Darwin

Madame Curie ‘

M0 e

In October 2019, the Ministry of | 59.

Environment, Forest and Climate
Change (MoEFCC) launched the first
national protocol to enumerate the
population of which of the following
elusive and endangered species in India?

HETHA] NG AIG) F —————— 2019 ¥
fbe gfEar qaic & o @ o |

A. T8 B. fodaw

C. 3acEr D. apr
wruerar &1 Rigia (@R sife Refefad)
4 ¥ s grr ufa wifta fsar mn
o7 ?

A. HZH R AT

B. 3redd wEwET EM1

C. I&hs Aa ZM

D. a9y eIfds BT

giERy], a4 Ud Sierary uilads w#3rer
(MoEFCC) # 31@gax 2019 # ¥R #
g 9 fra gei iR gyt @
T @ U B @l TEAT T
wicpie oy fdar e ?

A. Snow leopard A. 27 dgan

B. Indian rhinoceros ‘ B. wRdw el

C. Guijarat lion C. TONId &1 [

D. Bengal tiger D. S 2R
60. In which year was the River Ganga 60. e ad # 97 &1 w9 |t

declared a national river? ‘ fepam ar e ?

A. 2004 B. 2008 A. 2004 % B. 2008%#

C. 2014 D. 2016 C. 20149 D. 20164
PA/AH 12 10810804812
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61.

62.

63. .
flow in order to function. Because of

What is the typical range of RAM size
in a standard laptop used for office
work?

A. 128KB-256 KB

B. 256 MB -512 MB

C. 4GB- 16 GB

D. 128 GB - 256 GB

The part of the CPU which contains
circuitry that uses electrical signals to
direct the entire computer system to
carry out or execute stored program

instructions is known as:

control unit
arithmetic and logical unit
register

=i 2l

program counter

requires constant power

the continuous power it doesn't need
to be 'refreshed’ to remember the data
being stored. However, it is a volatile
memory, which means that all the data
that had been stored becomes lost once

61. 3fifhes & &Ml # WA oM A

Wes ey §# RAM & 3R & 3
TR @7 B 87

A. 128KB-256 KB

B. 256 MB-512 MB

C. 4GB- 16GB

D. 128 GB - 256 GB

. CPU &1 98 % fou#d afbedt am

gl @ ol W wuda dmm B oawn
oe a1 Frenfed & & fog @ dugeR
e &1 MElm & & o Ree
A BT WA FRaT 8, I e a9

P PME B B F o
wﬁqgﬁarr{fﬁaﬁmmqsﬁr
2| emar faggq oy &N WA %
FRY 59 & Y HeRa fw o T
BT TSdl & | Blciiih, U8 Uh fer
B B 2, foraar o & 5 ar

the power is cutoff. E‘W S i @1 U g e
HRI €T @ & el 8|
A. DRAM | e
B. SRAM B. SRAM
e SRUMAM | C. SSDRAM
D. SDRAM D. SDRAM
|
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64,

65.

A multitasking operating system means
that:

A. multiple computers can be

networked together.

B. multiple people can use a computer
concurrently

C. several programs can be operated
concurrently

D. the operating system can divide
work between several CPUs

Which of the following statements is
NOT true with regard to the Auto Filter
option in Microsoft Excel?

A. By filtering information in a
worksheet, you can find values
quickly.

B. You can set a filter on one column
of data at a time.

C. You can control not only what you
want to see, but also what you want
to exclude.

D. You can search fortext and numbers

64, Feeream T sifaefeT Rven @ aef U8

2

A. &8 FYI B U WY Fedh b
T FpeT 2|

B. &% @1 U He} & U 0wl
WATT Y Hhd 2 |

C. agd 9 WUl @1 Ush ) Heled
fepar S e 2|

D. siixfen fien, faf=r CPUs #
4 & o1 o B adr |

Microsoft Excel # 3ifel fiheey fadea
#F Hay # f=foflag & 9 ®5 91 $2=
T A8 & 7

A. foi a%die 3§ gu @1 fheex
&, A gfeoa I B Siog WTE
Y Fael £ |

B. 39 U% €AY H STl & Ud dicH
R U fheex e &Y God £ |

C. 39 9 #ad 39 afd &= g&d &
Gl 3 e TTEd # afed 9¥
Gl 39 8 @A 98d € |

D. 31y aifel fheex A&y &1 uan

using the Auto Filter option. NF o AR Tt @il Wahd E |

66. The second generation of computers 66. BT DI THA YIS B4

were based on | e o |

A. integrated circuits A. udiga gfRowf

B. transistors B. WA

C. VLSI chips \ C. VLSI fores

D. vacuum tubes D. fdma Aferamsi
PA/AH 14 10810804814
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67. Which one of the following input | 67. 9&1 # & &I FHHT B % fory
technologies do banks use to process 4% f=folRaa 9 9 @9 @ PR
cheques? ddTh B TANT B & 7
A. OCR A. 3. 91 3 (OCR) 1
B. MICR B. ©H. as. 9. 3. (MICR) @

C. OMR C. 3. UH. IR (OMR) @1
D. Pixels D. fees &1

68. In the context of computer processors, | 68. IS HAEF F Fa4 H, ALU &1 g0
what is the full form of ALU? w|oy 1 8 ?

A. Arithmetic Logic Unit A. TRefes difors gfe
B. Array Logic Unit B. W wifois gfHe

C. Application Layer Unit C. Ui eA o gfe

D. Application Layer Usability D. UelHeH R goifaferd)

69. Which one of the following is NOT an 69. F=fefed % 9 &0 v Wy 99 a1
Object Oriented or Object Based T STETRT AT (SrnfHe) s
Programming Language? el e’

A. Perl A. Td
B. Ruby B. sl
C. Python C. qr=zeH
D ¢ D C

70. Which of the following binary | 70. Fr=ifciad & & &1 W famendy wfeba
operations would give 101011 as the qRemd w@wd 101011 & P@EH wg A
result? (all numbers in this question are T ey fgam wen woe # §)
in binary number system)

A. 100010+ 11001 A. 100010+ 11001
B. 110101 -1010 B. 110101-1010
C. 101111-1100 C. 101111-1100
D. 100101+ 1010 D. 100101+ 1010
10810804815 15 PA/AH
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71. is the number of bits 1.

in the internal databus of a processor.
It is also the number of bits a processor
can process at a time.

A. Control Unit

B. Data Length

C. Word Length

D. AByte

72. What determines the number of 72.

operations per second that a processor
can perform? It is expressed in
megahertz (MHz) or gigahertz (GHz).
A. Clock Speed B. Bandwidth

C. Frequency D. FLOPS

73. Which one of the following statements
about MS-DOS is true?

A. Tt is an open source software.

B. It can multtask.
C. It has a Command Line Interface.
D

. It supports multiusers.

74. Which of the following statements 74
about kernels is INCORRECT?
A. It is a computer program that
coordinates all executing utilities.

B. Itis a computer program that
controls all computer operations.

3.

—— UF A9 @ JAidied sl 99 H
fdcq @ Hean el 8 | ¥8 fQew @) 98
HeET A gt 8, o wame ud ar |
TIST B Hedl 2 |

A. = garg (gt gfie)

B. SgI oY

C. 98 o

D. U& q915c

e Had g uft Gde & W Ga
qTell Sfeharal 1 e @1 i fras
g1l ST & ? 39 #ees (MHz)
1 eSS (GHz) ¥ &r<h fasn oiren 2|
A. e we B, defagy

C. Jmgfer D. ¥ (FLOPS)

MS-DOS & g # famferfiaa & & &1

AT U A8l B ¢

A. T8 TP Gl BT (30 HR)
T 2|

B. UE Ud 9 3 Bl B FHal & |

C. 94 U& A8 VWG] SeRBad
(@HTS T3 TETEA) BT B |

D. I8 s ¥ A0 SugnTHais &l
el B B |

. Biid & g | FeEfofad # 5 BE

T TeAd & 7

A. T8 U1 HSY HHRY (WIATH) § N
HAT FPrefes Syl (R erd)
T HAY HT B |

B. & UHI $YeX ARy (Fm) § o

C. Itis a computer program that Wil IX Sl T I (eI v 8 |
schedules and manages all system C. ¥E XH1 o . ( ) & i
- - T gonrel ufears # Fuifta siv
pl‘f‘achbEb. 5 3
D. Itis a computer program that D. g8 T $ex HAreY (Ham) & o
provides an interface between a SUATTERAT 3% W= Uoe F a
user and an C'pﬁfﬂﬂng system, | U W JUcTE FHNTr %’l
PA/AH 16 10810804816
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75. To create new volumes and format a | 75. M9+ apfi—spfl fdera 7 @wgew # o
new disk that you just installed on a o Trenfia (g¥eia) & & 96 9
Windows 7 computer which tool would s (dfegn) T 3R fevs @1 wwiid
you use? (®ie) &= & foro sy o 4
4 {5y A (Gel) &1 9T d 7

A. Disk Utility A R R &1

B. Format B. WiHe &1

C. Disk Management C. fo= HFumie @

D. Disk Manager D. &&= #oR &1

76. The first generation of computers used: ~ 76. Ugeil UIél & HUE H B

wanT febar i o7 |

A. vacuum tubes A. Fdre aforasit @wm ee) &1

B. transistors B. wueadl (giforeed) &

C. semiconductors C. dreTd] &l

D. mechanical gears D. @ify® e &1

77. Which memory is NOT primarily based | 77. FrafaRag 4 @ @ @ wfd (%€)

on semiconductors? o U G dred W AR T8
Bl B 7

A. Main Memory A. 7= Ffa (759)

B. Cache Memory B. gfumr wfa ($9 #9)

C. Secondary Memory C. fedus wfa ()

D. Registers D. Rred

78. Fiber relies on instead of | 78. 21 HOR % fow wigav fAgyga @ arven
electricity to transmit data, which ————— R R Bl 2, o aifey 9=
facilitates much faster internet nf & 39 geve A o gt
connections that are capable of handling UEH HYal /A & O 9o defdes WwieE
higher bandwidth. H W& BId £ |
A. electricity A. fagg
B. light B. ST
C. electromagnetism C. far@—gsa
D. magnetism D. gg&cg

10810804817 17 PA/AH
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79.

80.

Which of the following cloud
infrastructure provisioned for exclusive
use by a single organisation comprising
multiple consumers (e.g., business
units). It may be owned, managed, and
operated by the organisation, a third
party, or some combination of them.
A. Private Cloud

B. Community Cloud

C. Public Cloud

D. Hybrid Cloud

What is common between Chrome,
Safari and Opera? They are all:

79

80.

frafoea 5 9 fhw Fonee amur
AT (F9€ SWIRgaaR) H IS
(FaTERvI— AEHIE gHigd) g 3
SUANT e T wawE & ? g8 fe
WIS, dTEY 98 A7 &1l & WA g1
w@iffeg 9 v, vdbd sl darfer faer

A. web browsers & 39 R 9 1

B. search engines g T ?EGITE' (e Qﬁ'izl}

C. social media sites '

D. web services ([:) ?;gﬁgﬁm ferReT — T ()
81. ADS.L provides — fluta l 81, ADSL — =1 =% @ aifm

rates in the downstream direction, from | . L mpe—— -

the central office to the end user, than | R T e

in the upstream direction, from the end R pp—

user to the central office.

A. higher A, FEER

B. lower B. ﬁ-;:lﬁ-,-{

C. equal C. TR

D. higher or lower (depending upon D. Segax 47 o (e e Ser

provider and traffic) HERT — gRE () v i)

82. In web development, a s 82. a9 A& #, — UH UHR HI 94 AU

a web application that combines (Tei@e) & H1 U] (e Siahold

multiple services to create a single new (Rrrat mitharer gevw) # vel¥a taa

service displayed in a single graphical 4 [aT T Goid T & (ol 48 Hardi

interface. 1 TITT Dl & |

A. Multicasting A. HE! BINET

B. Moodle B. Asd

C. Meme C. 9

D. Mashup D. #¥RY

|

PA/AH 18 10810804818
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83. The terms 'crawling', 'indexing' and 83.

'ranking’ are related to: J
phishing |

search engines

SN wEp»

browsers
internet service providers

84. What is the keyboard shortcut to paste 84,

the contents of the clipboard in a
Microsoft Word file?

A. Cul+P

B. Cul+V

C. Cul+C

D. Cul+ X

85. When entered in the cells of a Microsoft
Excel worksheet, numbers are, by
default,

left aligned ‘
centre aligned

right aligned

justified ‘

°cnw

86. In Microsoft Word, you can customise 86,

or choose predefined margin settings
by going to

Layout > Margins ‘

85.

¥ Hafa & ?

A. gr@ErEl ([ 4

B. @l 3o (w4 3fom) &
C. faexel @aay) |

D. gex-ic Har yaraRli |

Microsoft word el 3 faears &)
arl) @ U B @ fore e Fare
vifddme &1 wamT far S g 7

A. Cirl + P &1

B. Ctrl +V @1

C. Cul+C @

D. Ctrl + X &1

W Microsoft Excel a@&die & Wi
(fe) & Hemt ufde & o § @ @
ud FeiRa Refd @ fewiee) gvr —
gt € |

A. arE 3R Wi

B. o5 ¥ wfdad

C. @Iz 3R WfEa

D. ¥ yrdfa (RewEs)

Microsoft Word #, 214

& 9+ & 34 FRuiRe Iuia
a3 (Ao @férs) @ sgmfea
(GreHTgyl) SR Had & a1 g9 HHd & |

A. A. Layout > Margins
B. Insert > Margins B. Insert>Margins
C. Review > Margins C. Review >Margins
D. Draw > Margins | D. Draw > Margins
10810804819 19 PA/AH
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87. In Microsoft PowerPoint 2016, 87. MS - PowerPoint 2016 ¥, q
contains formatting, wigs W fewrd 29 qrell uf
positioning, and placeholder boxes for ‘ Wi % fore Wil droferf
all of the content that appears on a slide. 3l S Srese deg kg 219 ¥
A. Outline view B. Slide format A. JSTART T B. WIgS BiHC
C. Slide layout D. Slide master C. ¥8s damse D, WIS AR
88. In MS-PowerPoint, 88. MS-PowerPoint ¥, Mg
lets you copy all of the formatting from U fava | e e (BrAfe) @
one object and apply it to another one. B FYT R T/ g v F
R H Rl gaH R 8|
A. Format Style A. BIHE e
B. FormatAll B. ®ife 3iid
C. Format Paste C. Bific I
D. Format Painter ‘ D. e Yex
89. When you're using ; 89. G4 Y 1 AT B B
you'll always be running the most up- &1 € a1 3T Haa Arghrae &IRT H¥d
to-date version of the apps that fd T wEifd® s (auss) U=
Microsoft can offer. This unlocks | el 38 B & | 7% Fafia geen st
regular security updates, improvements (ISTH), GuRT BT udhe (IFell) BT
and more importantly, access to the g AR Iy FEEl wU |, T
latest features and tools as soon as they faflreant sk gewr o9 & SueE B
become available. #, I9H] IUNTH STl § |
A. Office 2019 A. Office 2019
B. Office 365 B. Office 365
C. Open Office C. Open Office
D. Cloud Office 2019 D. Cloud Office 2019
90. In Microsoft PowerPoint, you want to 90. MS-PowerPoint # 314 Tg QWAHEFFH
ensure that your company logo appears ‘ ared € & amud wul @1 welle e
on the right-hand top corner of all the (crem), b=t wewr sRegforepeor # )
slides in a given presentation. Which wllgsH & H gl FH R fearsg 9
of the following views would you use U E @ fort syt Feifeied 9 @
to do this? fébe &g &1 94T AT BT 2
A. Slide Sorter A. TS Giex &l
B. Slide Master B. ¥iigs ARCY &l
C. Notes Master C. IcH AR
D. Outline View D. 3racergd & &1
PA/AH 20 10810804820
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91.

To insert a table of contents in a
Microsott Word 2016 document, you
would need (o go to the

menu tab.

A. Layout B. Design

C. References D. Insert

In reference to Microsoft Excel, please
see the contents of the following cells:

A B

4
5

- SE)
B

Cell A3 has the formula =A1*$A$2.
The formula from Cell A3 is copied to
Cell B3. The value displayed in Cell B3
will be:

91.

92.

Microsoft Word 2016 W (Sfagie)
# amiE @ aferer e &\ @

B. feume
D. 3w

Microsoft Excel % wad #, Huw
F=ferRa vt (TT) ot amfiET < |

P |
1

9 A3 &1 93 = A1*5AS2 & wars
(¥1e1) A3 9 3 @ yaIS (W) B3 §
i fFar o 2| ware (§«) B3 A
el w1 @ e ?

A. 40 B. 20 A. 40 B. 20
C. 30 D. 48 C. 30 D. 48

93. is an established set of rules ‘ 93, it &1 v wenfig s 2
that determine how data is transmitted ot wE FEiRe &war & & e & gurd
between different devices in the same ‘ (Fead) # fafe= sueol @ 4 Se
network. Essentially, it allows #1 g yar waRRa fasar oo | aifard
connected devices to communicate w9 ¥ g8 gaiford SuHvil & amag o
with each other, regardless of any HENOT YA ol 2, Hol Bl S99 JATaRe
differences in their internal processes, ‘ wftharsl, avaHr a1 ey (feeres) A
structure or design. PIg IR B |
A. Network Software A Ho9F diuTaas
B. Network Protocol ‘ B. ﬁea‘.kﬂ’l‘cf'iﬂﬁ?{
C. Network Media C. #eg% Hifsm
D. Network Operating System D. Seas ItRfeT Reeq

10810804821 21 PA/AH
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94.

A is a collection of

devices connected together in one
physical location, such as a building,
office or home. It can be small or large,
ranging from a home network with one

94,

— U A w©IE, T Ha,

FTEd AT B A USRI o8 SUEBRol
@ UH HUE | A€ BT q1 99 8
& 8 Galidl (819 -ca®) | oIdY U

user to an enterprise network with FTad A1 fAenera # s9R1 SudrTSars
thousands of users and devices in an 3R SUHOT & WY FEH e
office or school. ‘ (Vexursd =icdd) & Hadl & |

A. LAN B. WAN A. LAN B. WAN

C. MAN D. Cloud C. MAN D. Cloud

95. What is the full form of "TCP'? 95. "TCP' &7 quf @&y a1 & 7
A. Transmission Carrier Package A. grafeE s dow
B. Terminal Control Protocol B. eff= e ®oe Wema
C. Transmission Control Protocol C. oEeE Hoid Wieiar
D. Transport Control Protocol D. E9iE Helel Wiehld

96. Which one of the following devices is | 96. ¥R cTHdol H $Pexl @ HAMod
used for connecting computers in a star v & for fwferftaa 5 9 fva guaor
topology? &1 WA far e 27
A. Hub B. Repeater A. B9 & B. e @1
C. Bridge D. Router C.faw @1 D. &R &

97. In which topology are all the network 97. Fiferfaa § @ fbw <ol # &
nodes individually connected to a | woiTel wifea (eaw Hrew) afderd oy
central switch, hub or computer that ¥ UE 3ud Rag, g8 W1 IR | 9
acts as a central point of B & Sl WRe R uIRd #RA & o
communication to pass on the Al & TS hurd g & w9 A w
messages? | e & ?

A. Star Topology A. TR el
B. Ring Topology B. ¥ Smreirof
C. Bus Topology C. 9% erraroll
D. Hybrid Topology ‘ D. zEfde S
PA/AH 22 10810804822
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98. Aliyahas 2600 MB of data. Dineshhas | 98. anferar & i 2600 MB ST 2| f@=9
4000 MB of data. The combined data | % U 4000 MB ST €| g9 S &1
would fit on a USB flash drive of S HGH WU Y WSRYT &
storage capacity. dlel U USB U9 $15a 4 STl Wl Hael & |
A. 1GB B. 2GB ‘ A. 1 GB B. 2GB
C. 6GB D. 10GB C. 6GB D. 10GB
99. Which of the following binary ‘ 99, fywfeifad # 9 b feammd wfpar
operations would give 111010 as the (arg=1) 3ATRe) &1 9Rom 111010 BRTT?
result? (All numbers in this question are (39 9= o |91 FE g |
in binary number system) gl (@ree R Haw RweA) 4 #)
A. 111111-1011 ‘ A. 111111-1011
B. 100101 + 10101 B. 100101+ 10101
C. 110001+ 10101 C. 110001 + 10101
D. 111101-101 ‘ D. 111101-101
100. The 1s a small program that 100. U HHR & oY HTUH 8
controls the computer from the time it ‘ W dREeR @ 99 Wy 9 e
powers on until the time the operating HYAT 8 WEY UE 9 BT 8 IR a9
system takes over. %, 99 d@ AfRfeT Rived 99 e
o § 9 & o |
A. CMOS B. BIOS A CMOS B. BIOS
C. EPROM D. POST C. EPROM D. POST
|
|
|
10810804823 23 PA/AH
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Read the following instructions carefully:

mﬁiﬂﬁﬁmﬂﬂ'ﬁ

1.

Out of the four alternatives for each guestion, only one circle
for the correct answer is to be darkened completely with
Black Ball Point Pen on the OMR Answer Sheet. The

answer once marked is not liable to be changed

The candidates shouid ensure that the Answer Sheet is not
folded. Do not make any stray marks on the Answer Sheet. Do
not write your Roll No. anywhere else except in the specified
space in the Answer Sheet

Handle the Test Booklet and Answer Sheet with care, as under
no circumstances (except for discrepancy in Test Booklet),
another set will be provided

The candidates will write the correct Test Booklet Series as
given in the Test Boolklet in the Attendance Sheet

Each candidate must show on demand his / her Admit Card to

the |nvigilator

Mo candidate, without special permission of the Center

Superintendent or Invigilator, should leave his / her seat

The candidates should not leave the Examination Hall without
handing over their Answer Sheet to the Invigilator on duty
Cases where a candidate has not signed on the Attendance
Sheet will be deemed not to have handed over the Answer

Sheet and dealt with as an unfair means case

Use of Penal/Electromic/Manual Calculator is prohibited

The candidates are governed by all Rules and Regulations of

regard
Examination Hall, All cases of unfair means will be dealt with as

the Commission with to their conduct in the

per Rules and Regulations of the Commission

10. After Examination is over, candidate has to returmn his Answer

Sheet to invigilator. Invigilator will hand over the Candidate's
copy to candidate, then only candidate is allowed to leave the
examination hall. Candidate is only allowed to take Candidate's

copy of answer sheet.

. s il dAadiam &
fom ofl w0 3R, TR I W Fae U e B8 gl
T HT 919 Oe U4 W o | U AN IR Sifd fu
W & @18 I8 sl A6 o 5Hl |

2. gt ghifa &t # oW e g AW TE 39
72 @t o ey A wl | odtemdf o srpmEtE
I i d Pruffa wm & afafes s 3 fod |

3. wften qfiere vd I A @ A W @Y
Faifas ) ot ofefuf &t (e uflan qfee 4 &4
#1318 Y ) gl vlan IRo @ I o SuEw
Tl F7 S |

4. whten gfee A & et ofien o e & ohanf
w8 7% | Suffo wae A fod |

5. & o 0 vdls udtendf, we srrdlars @1 s mEY
o= e |

6. e U By FdE 3t fdw sl & e
gt s R A B |

7. Sl by SFAdeE B HUT IW S =2y
whanlf sg wm A 98T | of? el whandf 3
JuffA vEe TR SNAR 81 @ 6 ug W= S
T I 0 T efern & i ug s e @

HIHE! {1 S |

8. U / gime / pEElon ofed® & Jua
aftel & |

9. e gfa A srerw & g wftemdf smam & i ot
el gr Pafta & |arfae @l & it vl
1 et st & Pt od Rl & srgem gim |

i & gwia sndf I e oy s dlye Bl d
% | sFerdee g o] 91 o T @) snadf ufey
et i g g o aun v gueia § sy
ot a1g ot sl A el | I =F 9 ananlfufa
anarff ) or e A TR A R R |

10.

11. Candidates are not allowed to take Test Booklet with them.| 11. wflan % guvia uftamff & wfan g =u
They have to submit the Test Booklet to the Invigilator after iy = Werht gl ofian giaer =
the exam. Titendf s Fry R A ¥
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